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S. No. of Question Paper : 6470
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Name dfthe Paper :  The Individual and Society

Name of the Course . B.A. (H) English (In Lieu of Credit
Course)

Semester 1 7\

Dgration :3 Hours Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)
Attempt A/l questions
i Identity, explain and comment on any rhree of the following :
3x5=15
(@)  Dear Friend.....You have not discarded your tradition
Its roots go deep in your mind

(b ... but what if' the baker won't ler me feel the

bread ?
(¢)  Maybe it just sags
Like a heavy load

Or does it explode ?

P.T.O.



(d)

Write

(a)

e L

©

(@

Answer any fwo of the questions given below :

(@

(b)

{2 6470 |
\ L
; . (©
But someome still was yelling out and stumbling
And floundering like a man in fire of lime......
Dim through the misty panes and thick green’ light m,mq

As under a green sea, I saw him drawning.
short notes on any three of the following : 3x10=30

The mental enslavement of Dukhi in Premchand’s
Deliverance.

Yeats’ views on beauty in 4 Prayer For My Daughter.
Significance of the title of Nadine Gordimer’s ._\xa,...h.
,_,wo‘mmm:_mowson of the title of Edna St. Vincent zm___mw,m
Conscientious Objector.

2x15=30
In Ismat O::%mwm Kallu, class hierarchies are mza_,
dependent on economic factors. Discuss.

In h&nw&%marm 's Siste: \ 'oolf finds that women are

excluded from the historian’s account of the past.

Discuss. :
: 470,

6470

Analyse the ways in which race, class and gender affect
the balance of power between the two main characters

in Roger Mais’ Blackout.
In The Ghosts of Mrs Gandhi .f..n:% Ghosh recounts
the extraordinary experiences of ordinary people caught

up in violence. Discuss.
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Jnique Paper Code : 12051201

Name of the Course : B.A.(Hons.) Hindi

Name of the Paper : Hindi Sahitya Ka Itihas
(Aadikal Aur Madhyakal)
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Time : 3 Hours Maximum Marks : 75

enRiai & R Fdar
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e Fax o |
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T |
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sTerar
STfABRIN @Alfhes Ao & fAvant saemsa |

3. R TR @ IRaw WA Wey W i)
14

sTerar
o 1 F agRml Sy |
4. Qe & FMT gouf X s svm 14
LT :
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(i) & e
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(iii) ST R
(iv) Qg e
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Your Roll No.

Sl1. No. of Q. Paper
Unique Paper Code
Name of E@ Course : B.A.(Hons.) History

| (CBCS-2016 admission)

‘2 History of India - II

Name of the Paper
'~ (New Course)

-Semester , a1

Time : 3 Hours Maximum Enlnm : 75

Instructions for Candidates :

(a) Write your Roll No. on the top immediately
on receipt of this question paper.
59 U9 B U< 8 9 g Mf ox sy
T Fe< ford |

(b) Attempt four questions in all.
HF AR A B ST At

(c) All questions carry equal marks.
il usHt & o gEe ¥

PTO,



8697

(d) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper.

9 99999 # I SfUSh ar R R «f
uh A9 7 e, dfew gl oo & 9
7 8 =feu |

1. How far would you agree that Asoka’s Dhamma
was an administrative tool to keep the empire
intact ?

Y T 9 9§ FB o Tend & 5 5l 3 o

H i GEew B erEvs w@H & g oraEd e
gemErT g o ?

2. Assess the significance of the period from c.
300 BCE to 300 CE in the history of Tamilakam.
AR & g J @S 300 sErgd @ 300
SEl H AT $ HeT B HoAHT BT |

3. Trace the growth of urban centres, craft

production and trade from c¢. 200 BCE to 300
CE.

T 200 $EMGE & 200 S $ 9oy 7Ry, ¥y
SR T AR H g Fepra Hr 3@ifeha i |

2

8697

. Describe the Dmﬁﬁo of social stratification in

terms of varna, jati, untouchability and mmsmmw
from c¢. 600 BCE to 300 CE.

ST 600 SEIgd & 300 $= F §i= aof, sfa
aTgegel ud RiTiw & 8% F wrres @WURT B
@WEq H U i |

. What changes did land grants bring in terms

of agrarian expansion, production relations and
land rights from c 4™ century to 750 CE ?

T G Tl S | 750 S B O -,

SeTe- Tl 9T Y-SRl & & H f-TgeT
TT & HIOT FAT KA S 7

. Critically examine the main features of Puranic

Hinduism during the period of your study.

HU HeEd Ha A AR Ry gd @ g
ferdroemall o1 fAsATeTHE ThETT Hiferd |

. Outline the main features of temple

architecture in India between c. 4™ century
CE to 750 CE.

THT Al 9Er ST ¥ 750 3= & "= WRa o
HRT-wae B g fAdvarett B J@iftha B |

3 P.1.0.
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8697 Your Roll No..........
8. Write short notes on any two of the following : Ng: 4 Question Paper : - 8720 GC
e & & Roedt & oF s RePRl BREY ©  ue paper Code 1 11011203 -
(a) Monarchy and ganas/sanghas
S e of the Paper = REPORTING AND EDITING
_ : FOR PRINT
(b) Relationship between state and forest
T ST eRuy Aﬂq_ﬂ V + ST gy e of the Course . B.A. (Homns.) JOURNALISM
(c) Mauryan art and mwnr:mnncﬂn ¥ , 5 i
A FHAT AT T |
(d) Teachings of Mahavira tion : 3 Hours Maximum Marks : 75
TR St fRremd

tuctions for Candidates

Write your Roll No. on the top immediately on receipt of
this question paper.

.._PHSSE all five questions. -

All questions carry equal marks.

What are the news sources and points to be kept in mind

for crime reporting ? Write a news story on a recent crime
ncident that made headlines.

[ 3000



OR

What is beat reporting ? Discuss the skills anpd

qualities that a reporter should possess while covering a

beat. (15) %

(i) Discuss the points that must be kept in mind while

writing articles for news publications.

(i) Write an article on the verdict of the recent state

assembly elections. |,

OR

(i) What are the stages and skills required to conduct a

successful interview ?

(i) Frame eight questions for an interview with any ONE
of the following personalities :

(a) Chief Minister of U.P.
(b) Akshay Kumar

(¢) P.V. Sindhu (15)

2.0 3

Explain the importance and structure of the edit page of a
newspaper. What are the different types of editorials that

appear on the edit page ?
OR

Discuss the set up of a newsroom of a leading daily.

Profile the duties and responsibilities of the sub-editor.

(15)

What is the importance of supplements ? Do you think
that supplements have altered the style of national daily

broadsheets ? Discuss with suitable examples.

OR

Discuss how newsroom pressures and agenda-setting are

affecting the quality of news in the current era by citing

suitable examples. (15)

Write short notes on any TWO of the following :

(1) Letters to the Editor

(if) Objectivity



8720
(i11) Education beut
(iv) Backgrounders

(v) Editorial freedom

[This pm.nmnow paper contains 2 printed pages.]

C Your Roll No...............

* Sr. No. of Question Paper : 8720A GC

(7.5%2)
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Unique Paper Code : 11011204

Name of the Paper

Name of the Course

Media and Cultural Studies

B.A. (Hons.) Journalism

Semester o II

.Duration : 3 Hours
2F

Maximum Marks : 75

Instructions for Candidates

1%

2.

#

L

3
2

Write your Roll No. on the top immediately on receipt of
this question paper.

‘All questions are compulsory.

Critically comment on the statement that popular culture is
a residual category after having decided what is high culture.

OR :

What is Mass Culture ? Do you agree with Freud’s contention
that mass culture leads to ‘Substitute Gratifications’.

(15)

Ideology is encountered in the practices of m<QOm% life.
Elaborate with relevant examples.

PO,
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OR

Is political cconomy a relevant framework to understand #
media today ? Explain. L%

3. What are some of the contemporary debates on the
Tepresentation of gender in the Indian media ?

OR

How does myths get constructed through representation jn _
media ? Discuss. (15) ‘_

Fandom involves active engagement of the audience with
the production of a star and popular culture. Comment.

OR

What are the three ways in which media texts could be
received according to Stuart Hall ? Explain with examples.
(15)
Medium and technology create meaning in more effective
ways than its content ? Discuss this statement critically.

i

OR

Write short notes on any two : d

(a) Sub culture {

(b) Culture industry
(¢) Live performance

(d) Hegemony (7.5x2=]5)

(400)

This question paper contains 6 printed pages.
Your Roll No. .

GC-4
SL. No. of Ques. Paper: 8710

: 01
3 Paper Code : 121312 o
pom 3 4 : C3: Classical Sanskrit Literature

Name of Paper :
H (Prose)

Name of Course : B.A. (Hons.) Sanskrit
Semester : 11 |

Duration "_u hours

Maximum Marks L75
(Write your Roll No. on the top immediately

on receipt of this question paper. )

. ] swers
Norte:— Unless otherwise required in a quesiion, a.: .
o n S it or in Hi i
should be written in Sanskrit or in Hindi or "
English, but the same medium should be use
¢ 'y

throughout the paper.

fouquil.— 7T HFEYIF T §H G 3T FYI-UT F IFH
g @ (5t a1 srash fEdt wE o °
Afrd, g @9t W F AreIw uF @ e
7T |

All questions are compulsory.

Tut Ty & gar dfad

WAk (SecrioN A)

1. frefafee § § fasdl @ &1 FER R

he f ing: 5x2=10
Translate any two of the following:
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@) & o ¢ 3 8710
| ;
. mﬂ_&wﬁ. fafeaaiareaenviagdymea 3 Frepauata afe | srfeayEeatT s e
T MY
T dEE o (@) sond fe wAfY e e TSR
ﬂmﬁmﬁm” ] 3 ﬂ‘uﬂ&_nq._r |1l|nmm__ﬂ um..@u.“ﬂmm__._a__” |
gy (M) SERUSE VAt gEEdEs g ar fareer
A 2 . wal A ggfd fa: |
(@) TETEN] e st wiwwfog EEEE] <l
HAUIRAT VO | s § S g () o feeuwmEmEfa e gl
T RO A e axe ﬁﬂﬂa_ i ETTE G- |
(M) TR v TrS IR = X | = ;
= e ..,n LS ERRLIEC S w.%ﬁﬂ%mﬁ%ﬂmﬂﬂﬁ%ﬁmﬁﬁw
T yuafa, sr=sfy 9 TR R e yet A SR
.m,m.mm.,.,ﬁﬂ« frarge et . ; . "
nmwwlimﬂv ‘ . j THL 3EHRITE- Write down in your own words the demerits of NSbein
DRI fagaran & wwels: | b according to the ‘Shukanasopadesha’. 10
() durfe— aaaq Iom smerfy ez . L (Or)
) N 3 : ’ - > - 4
EEC AT o1 I O S A AT A .ﬁmﬂ%%%ﬂﬁﬁwﬂ&%
AR gl ‘ qy e freey fafau
Pa L dRRIERETY g Hadary , L “
§vaval Ay %ﬁ%ﬂdﬂ&ﬁm_ - According to @T0N Aorl 94 write down an essay on
EELIzes) 1 ITT coa e, | the style of Banabhatta. 10
2 = 4 & folt @ & s HIfAy: | S R
Explain any two of the following: 5%2=10 y 9 4. far@d ¥ q fodt a1 1 Far sifeg
S%x2=10

Translate any iwo of the following:

@ dEmet ¥ gm
L SmESEETeAf ety .
(F) =19 Arsergasy — g | ganf  aftyadr foreeen
Fsf FER W qW °  RIEATRIE:



4 ),n R4
el . i@ s 8710
3 ﬂ_ﬂﬂ:.wm..ﬁw ﬂmﬁ_w ¥ = *. S Explain the prose style of Tl TUEL. 10
S ,wﬁﬂ 3 ERS . _mmnm::_m_. L] el (Or)
OMORIROR fgrai ‘fagaafay & wfsdaim & emar W fagnas & 3fw
TMF(EHE B Rishy Frereit &1 fad=m FfT
ﬂmmwmzc_ﬁ%ﬂ ufed: | aHemfay e, Sgdu’ 3 | Describe the saying of fdgR¥E according to the read
(@) 37| dauET 9fe HEG AN wafy e portion of the ‘Tag[aaitan’. 10
L R |
6. 5 W 1, W W 2, W € 4 ¥ Ywifed vl F |

At @A SR few ek

TR e oy agar MR ferdl uifer Freal W oo fevqolt fafed |

BT TR . I . Write grammatical notes on any five of the underlined
o i , A UGS words in Question Nos. 1, 2 and 4. 5

S _ :
M Tafefe—  ‘wEfratn Saenf g |
ﬂﬂﬂﬁﬁ..«.ﬁ:ﬁﬁqﬂm% |y Wy ma_ﬁ L 7. STHa MOl S 3g9E Sad ge & W e Tl T
T | wuRm Y e, ey | 0 O e e

AT (Secrion C)

m‘ﬁﬂwﬂﬂ% 2] <, =y '~ % Explain the origin of Sanskrit &I and write down
D ﬁﬁ.@%ﬂ% ¥ qEhREg | a short essay on two important TTeIehIed. 10
HEAT (Or)

T | .
: Frfefaa & & foet @ W oot fafen
HEHT yfaeaifin: m@ﬂ&ﬂﬂdw, H* Write short notes on any {wo of the following:
b TG T FAE % IR ﬁ_ AT, S, FIEE, TFAEREH L 10
RIS CII (RIS CIRE (i Lo Cis ot ORI |
TEH= Sfgeereas=: wmare: | _ 8. WEphd Wifeed § 3IUcied AIHHAT it afvla Hife |
5. MEHR U Tt MRSt F)y ot Fife | __ Describe the TehahdT available in Sanskrit Literature.
. _o
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f

3gen A.OS
@S@@mm@@ﬂ&ﬂ@ﬁ&@wﬁq
Write short notes on any ..

fedrae, AT,
EEISEEICRIER

two of the following:

JEuwdan,  feEregifoi
| 10

1400

f

This question paper coniains 4 printed pages.
Your Roll NO. oo
4 SL No. of Ques. Paper: 8711 GC-4
Unique Paper Code  : 12131202
Name of Paper : Self Management in the Gita

Name of Course : B.A. (Hons.) Sanskrit

Semester : 11
Duration : 3 hours
Maximum Marks : 75

(Write your Roll No. on the top immediately

F
¢ on receipt of this question paper. )

Note:— Unless otherwise required in a question, answers
should be written either in Sanskrit or in Hindi or
in English, but the same medium should be used
throughout the paper.

Froquit.— 77T SEVAE T B W, T & IW T
a1 fz=t a1 et fEat & w7 ST 91g
g9t g &7 Aread TF @ e ey |

All questions are compulsory.

it 5o & I AT |

1. Frefafaa &t saren SifST

Explain the following: 5x7=35

(@) o we T o T wowa 7
iferarg FATE faTE e |
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b ]
A

ﬁﬂ? 8711
HIEN Vi
I ) ) AR N 87 ;_.ﬁn@ﬁ%mﬂﬁnﬁ%ﬂ
TR qfgtaia 7 y e i T S|

st wles v wsg Sfsemira ) _\ What is Self-Management? Discuss the role of Mind

(=) sRramr i wvai o _ and Sense in the Pprocess of Self-Management
. m‘qﬂr i_ﬂ BRI EIp Gl according to the Gita.
= B i ArafEry ST (Or)

T (Or) Tt % w<d o B e EEE i C CRURED g #
eI afgeforael wer = | geitan ST |
ﬁmﬂ@ﬂ:ﬂ%— wehee Critically examine the nwwcso—omwnm_ background of

- e wwmﬂﬂmm. I b Self-Management’ in the context of the Gita. 11
27T . .
REHEICHCICIEE RAE D 3Teen (Or)
AR q =T A 7 ey u%%%%m%%gﬂ%ﬁ%%
|
HoT (Or) mwﬁﬂ%mﬂ%ﬁﬂ%%.
aid ufy waf : . Describe the principles of three Gunas and explain the
: AR el g x| mportance of Sattvika buddhi according 1o the Gita.
PAYEA | wwafa gHfa: i AQJ
) : -
(%) SSEIa aer wmrratare g | ol st ¥ o am W fEre § quyeal & "E W
: Feause=ay
) iscuss the paﬁOHﬁm—ﬂO@ o1 austerit in the oga
i I Di he i £ ity in the Yog
i according to the Gita. 11
TRIErEFA e TR T =
= 1 faudid . P
1 Y aE R 4. Frefafad & @ fdt @ feofed faret
(® oI uH_Pn_nnh |
A MM,% A | (i) SeR-Yf4
EieaitEmht @ wesw § ¥ ) | . ¥ (i) Sfed S
(©r) (iii) STERTETTER IS
FrICTHl HEh: HEala: | (iv) TCATEH-TROT

ECtE ,
Ay T @ Wiy ey | .



e 5 4
rite short nc¢
tes on an
y three of th
c m.ﬁu:Ce.{_.—.u A
g

(1) Purity of diet
(i) Balanced life

(i) Determinate intellec

ect

(iv) Shelter of God

(v) Restraint of the mind |
3x6=18

1400

I

Sr.

Unique Paper Code :
Name of the Paper

Name of the Course

No. of Question Paper :

té

?._mﬁcam:cs paper contains 40 printed pages. ]

Your Roll Nowceveeeeeee

1863 GC-4

22411201
. Corporate Accounting

B.Com (Hons.)

Qemester 2 A

Duration

tn

3 Hours Maximum Marks : 7

Instructions for Candidates:

fa—

Bl @ forg fam

1.

Write your Roll No. on the top immediately on receipt of

this question paper.
Attempt ALL questions.

Answers may be written either in English or in Hindi: but

the same medium should be used throughout the paper.

ﬁﬂﬂlﬂ%@ﬂw%@nﬂmﬁﬁ%%ﬂ%%
ot

280 LG
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[.  (a) Explai
4) Explain the provisions of Sect
Act, 2013 with re

premium,

A.F v i .r ..—.ﬁ .

1on 52 of The m,o::u

o,‘ : o
gard to utilisation of Ste

Ui,

Ltd. as at 31s¢ March, 2016: w
EQUITY AND LIABILITIES
cour p i 1
m”_a up Share Capital: :
).000 Equity Shares of Rs. 10 ._
cach fully paid up i |
“ [}
000, 109% Redeemable |
S 1,00,000 |
erence Shares of Rs. 100 o |
cach fully called up . \
Less: €alls iy Arrears
1.000 99 \
0G0

@ Rs. 20 each

Securities Premium

—

S — 20,000

nce in Statement of Profit and Loss
General Reserve -
70,000

Creditors

1,531,000

——

9.00.000

——

[I. ASSETS

1
Non-current assets

—

5,00,000

Current assets (including Cash ar
Bank Rs, 90.000)

e |

— |

4.,00,000

9.00.000

an _.?

1863

¢ The

3

redeemable preference shares were redeemed on the

following basis:

1. Of the 5

the call

0 preference shares, holders of 40 shares paid

before the date of redemption. The

money
Is

halance 10 shares were forfeited for non-payment of cal

before redemption. The forfeited shares werc reissued

as fully paid up on receipt of Rs. 500 before redemption.

Further 4,500 equity shares were issued at a premium of

2.
10% and 2,000. 9%. Debentures of Rs. 10 each were
issued at a discount of 10%.
3. Expenses for fresh issue of shares Rs. 5.000:
4. Preference shares were redeemed at a premium of 10%
and securities premium account was utilised for this
! purpose.
5 Holders of 100 preference shares were not traceable.
Show journal entries including those reiating to cash.
(5+10=135)
OR
1 . P . . .
.. (a) Discuss provisions regarding issue of bonus shares as

enumerated under the Companies Act, 2013.

(b) The following balances appeared In the books of the

company on Ist April, 2015:

P10,
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wm... ’
12% Debentures 4,00,009
Debenture Redemption Fund 3,00,000
Debentures Redemption Fund Investment 3,00,000

(Represented by 10% Rs. 3,60,000 secured Bonds ¢

Government of India)
b

On 30th April 2015, the company purchased 10% secured
bonds of Government of India for Rs. 60,000 at par.

Annual Contribution to Redemption Fund was Rs. 64,000
made on 31st March each Year. On 3ist March,, 2016,
balance at bank was Rs. 2,00,000 after receipt of interest.
The company sold the investments at 80% and debentures
were paid off. You are required to prepare the following

accounts for the year ended 31 March. 2016:

(i) Debentures Account

(11) Debentures Redemption Fund Account

(i1i) Debenture Redemption Fund Investment Account and
(5+10=15Y |

(F) =7 sfrfr 2013 %ﬂwﬂwuﬁm@%ﬁ%w@ﬂ%
%w%iﬂﬂﬁ%%ﬂ@%.

(iv) Bank Account

Aﬁ_vxﬁmﬂﬂ@diwouomﬂﬁ%ﬂmﬂ_ﬁmﬂﬁ@@m

3

£
||\|l|llll|.ll.||| o
[ et EIERRIN
e
T IR ﬂJdm_.w .60
qif @ 10 € @@ 50,000 et A
- 5 000
Fg W T A 100 ¥ A L
o
10% ufRa SR 1000 T
o R W A Tpog |
"W 20 |
e U A L
20,000
afesfer e
=l 60,000
¥ 3w
st B & wuA
S 70,000
g fsrd
) 1,51,000
- I
9,00,000
11 ufReatemt :
: 5,00,000
R e, et
4,00,000
Y e aRee (@ ¥ A
90,000 & fHeme)
9,00,000

P.T.O.
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_m
L : i
4.:

4
1 m,.\o AT IR ¥ A 40 gﬂ%m&.wﬁmﬂn%m&ﬁ,
H%@ﬁﬂ%%%siﬁa@ﬂuwﬁwaﬂ
J i A j
ﬁﬁuﬂuﬂaﬂﬁ@ﬂﬂﬁﬂﬂﬁaﬂ%ﬂ

? ? ,

@.g%ﬁgﬂmbooaﬂmﬂ

a.%ﬂgﬂ_ox&gﬂm@ﬂﬂﬂmﬂﬂ i
il %ﬂ%ﬁﬁmﬁﬂ@gﬂgﬁﬁ

Aﬂﬂia@wﬂmoa%gﬂﬂﬂaﬁﬁwii :
&

i & wafim ﬂmﬁﬂ%%@wﬂ%ﬂ

Aﬁv%%%wu%ﬂmoa&wﬂ@ﬁm%wﬂ
M

2. Fro

i
T,
12% feama o
- 3,00,000
E . a 3,00,000

(WRa WER H 3,60000 T & yfasm oiE F 10%
ffafos = 2)
30 e 2015 F FE A 60,000 T ¥ TAEA T HRA HR

& 10% whReE s @ w@de o
fem ff ¥ affes areEe, %booﬁﬁzi%ﬂm@

o ﬁiweo%%%%mﬁmﬂwﬁyﬂ

2,00,000 % w_%wﬂﬁ%moﬁﬂwﬂmﬂ%@%
ﬁmﬁwmﬂ_%ﬂwu_imoa%%%m@ﬂ%
@aﬁﬂ@@m@ﬂwﬁﬂ%w

(i) e o

(ii) feawm ufeerr ffer e

(iif) fedeer fierr foftr Fwr S SR
(iv) d= < |

m the under mentioned Trial Balance of ABC Ltd.,

prepare a Profit and loss Statement for the year ended

31s

t March. 2016 and the Balance Sheet on that date:

il
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H .
Debit balanc
- es Rs. | Credit balances R
pening Stock -
3.00,000 Equity share capital [ 10,00.000 [
(10.000 shares of |
= Rs. 100 each)
urchases
6,09,000 | 59 D
: ebentures 2
= 2,50,000
5,52,000 | Sales 18,50
Discount —
15,000 | Creditors 80,0¢
Fuel —
5
- 25,700 | Bank overdraft 1,20,000 f )
uildin =
g 7,00,000 | Discount 23 0 |
Carriag ; =
ge Inward 11,750 [ Return outward
Sundry Debtors 2,00.000 =
Goodwill 1.30,000
Short-term 1.50.000
Investments IIA
% J
Plant and 2,50.000
Machinery
Loose Tools 60,000 |
General Expenses 1.74,000
Bad Debts 10,300
Debenture Interest 6,250 g,
(half year upto w.
30-09-2015)
Cash At Bank 1,30,000
. 33,24
_c@l_f uu,ma,acc\‘

(i) The authorised capita

4 Additional information:

| of the company is Rs. 20.00,000.

(i1) Stock on 31.3.2016 was Rs. 3,50,000.

(iii) Depreciate Plant And Machin

ery by 20% and revalue

loose tools at Rs. 41,000.

(iv) Provide 2% as bad debt reserve.

2

+

(v) Final dividend 15% and transfer of Rs. 11,644 t

(vii) Corporate dividend tax

o General

Reserve was proposed by the Board of Directors.

(vi) Rate of income tax is 30%.

to be charged at 20.358%.

(15)

OR

year ended 31st March, 2016, the profit of A

(a) For the
d to Rs.7.20,000. There was a

Ltd. before tax amounte

credit balance of Rs. 4,10,000 brought forward from the
previous year. The paid up capital of the company
consisted of 30,000, 6% Preference shares of Rs 100

P L.
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cach and 4.00,000 €quity shares of Rs. 10 each. ::Q._.E
dividend on equity shares was paid during the yey, a
7.5%. The following appropriations were passed at the
annual general meeting of the company:

I. To pay dividend on preference shares.

2. To pay a final dividend of 5% on equity sharg

capital.

3. To provide for taxation Rs.2,00.000.

4. To transfer 2.5% of current year’s profits to General
Reserve.

i

]

To provide for corporate dividend tax at 20.3589%.

Write up the “Reserves and surplus” to be shown

In notes to accounts.

(b) Explain the intrinsic value method of valuation of equity
shares with example.

(c) The Balance Sheet of X Ltd. is as follows:

. 11
1863
Rs. Rs.
\‘1'\
4 particulars g

t\\_nmmﬂmﬂ\rzo LIABILITIES:

aq,m funds: —

= Share Capital 1,00,

Equity Share Capita
(10 000 Shares of Rs. 10 each)
u i 50,000
89 Preference Share Capital
f Rs. 10 each)
(5000 shares o ——
90.000 ,40,

| Reserves and Surplus
Non-current Liabilities —
8% Debentures
Current liabilities —
Trade Payables -

‘Short Term Provision:

Provision for taxation — ‘\m.nm,cce
I1. ASSETS:

Non-Current Assets ——

Fixed Assets o

Goodwill o

Investments (5% Tax Free ]

Government loan)

s Current Assets —
Trade Receivables ,?‘ooo
Other Current Assets: 5
Sh Issue Expenses

= : Total 3,25,000

P.T.0.
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Current year’s profit of the company (after deductjy,
interest on debentures and taxes)
market value of the machinery included in fixed mmmmg_
is Rs. 5,000 more. Expected rate of return is SQ\@
Compute the walue of goodwill of the company m:

years’ purchase of super profits. (5+5+5=15)

>w0@@%%&¢m¢ﬂmﬂﬁwzimoa%§ﬂ

g
is Rs. 31,000, ;mﬁ

W F g A i B wu dor iR 3
e 9y % | wfde 99 T
HRBE i 3,00,000 | e R ISR 10,00,000
(10,000 % a@re 100
IR
@deriar 6,09,000 | 5% =g 2,50,000
ArgRar 5,52,000 | faght 18,50,000
T 15,000 | @=emRar 80,000
EDC 25700 | ¥ g 1,20,000
NET 7,00,000 | weer 23,000
RS smEF 1,750 | ao& wEE 1,000
!
fafder Aafeat 2,00,000 i
T 1,30,000
Jmaf R 1,50,000

13

000
4| o won TR Bt/
e 60,000
-l._-_l._llll|-|..mm.|m .T.w.p.boc
\...\l..lm__u___
e 10,300
= S 6,250
| (g =@
£y ]
M 30-9-2015 TH)
\ o 33,24,000
33,24,
SR T

(i) For aforpa dS0 20,00,000 % 21
“ﬁ : c
(i) 31032016 T FiH 3,50,000 % caliel
. -
Esﬁmm&%ﬂéﬁ@ﬂﬂmﬁﬁ& 3R gusw S
G 41,000 T =
(iv) sen =o Red & fow & 20, W wEEn F
3, (v) sfm amtim 15% o Femn Hea X e Ro@ # 11,644
AaTd A o TEE @il

T S 30% T

- (vi)
P.T.O.
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(vii) =% T w= 20358% far s , . "
¢ s
i .
Nl [ fRad sk
I||Il|lll||l|||||.
2. () 3194 2006 = T ge a6 B Fre A B o st A 4 (10 T T 10,000 ) 1,00,000
I‘I-Il‘ll‘ 4
¥ 9B W 7,20,000 & A Rfe Ay 4,10,000 & =t MMM g0 R Fw T (10 T @ 5000 @) | 50,000
ﬂ@%@ﬂﬂw.%%mﬂgw %\gwmooc e A [ DELL 90,000 2,40 ,000
N 0 ,000
Sfemm B 100 © AR sk 4,00,000 ¥fFE e 10 T uwnﬂ@ Faa
e 1 SRS A w s . - PR
. . FARA AT T A D Sy 7.59 gy AR 50,800
T HER H A R duw ¥ i v
| few ) e T
; . SR Fe A 28,809
d. L R Feaafy e e @ fae sEen 10,000
2. ¥FEA AW R T 50 SR e S ; Sire 3,25,000
3.2,00,000 % HUUT & fare — ‘._ ’ 1L st
u.ﬂ@ﬂ%iﬁm.mxgﬂgw%ﬂﬂ | S g T e 1,80,000
10,000
m.mo.wmmxﬂﬁ@iﬂﬁgﬁ%@a g™
. o R (5% = A wEl =) 20,000
@@ﬂmﬂgw%mﬁﬁgmﬂﬂﬂ ,, I
(@) et It 3 aomd g ol o S | TOR ¥ g 1,00,000
1 ey wRafeE: e B e 15,000
(T) X fofies =1 9o v 38 waw 2 — 25,000
P.T.O.
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FHI & . .
W T A (R’ 3k =% = =y e mw,r P The consideration pay

3.

g ) mroocam_g&qﬁqﬂ&w%%
= 5,000 . -
7 @@ﬂ.w;ﬁmﬂqﬂsﬂﬁ_oﬁw.mm@%ﬁﬁ_
ST R FR D g T F ST Fifs |
_
A Ltd. i
T ﬂﬂmenma to acquire the business of B Ltd, as on 31 M
- I'he Balance Sheet of B Ltd. as on that date was il
as :
EQUITY AND LIABILITIES ::aﬁ...
Rs.

Authorised, Issued and Subscribed Capital

=

10,000, 129 Preference Shares of Rs. 10

cach fully paid up 1,00,000
20,000 i
Equity shares of Rs. 10 each fully paid
General Reserve paid up| 2.00,000
Profit and Loss Account 20,000
1185 Biehantes 30,000
1,50,000
ASSETS 6,00,000
Land and buildings
Machinery 2,00,000
Stock 1,00,000
Sundry Debtors 2,00,000 |
|
Cash and Bank Balances 50,000
Tﬁﬂ_mgm:mﬂu\ expenses wm_OOO
Debenture Discount Suocml.
5,000

—

98,25

(i) The

17

able by A Ltd. was agreed as under:

preference shareholders of B Ltd. were to be allotted

14% preference shares of Rs. 1,10,000.

ers to be allotted six equity shares of

(ii) Equity sharehold
d at a premium of 10% and Rs. 3 cash

Rs. 10 each issue
against every five shares held.

(iii)11% debenture holders of B Ltd. to be paid at 8%

premium by issue of 12% Debentures at 10% discount.

While arriving at the v.E.o_smma consideration, A Ltd. valued
land and buildings at Rs. 2,50,000; stock at Rs. 2,20,000;
and debtors at their book value. subject to an allowance of
Rs. 2,000 to cover doubtful debts. Debtors of B Ltd., include
Rs. 10,000 due from A Ltd. The machinery was valued at

book value.

‘% It was agreed that before acquisition. B Ltd. will pay a

dividend of 10% on equity shares (preference dividend
having been paid already). Ignore corporate dividend tax
and dividend bank account. Liquidation expenses amounted
to Rs. 5,000 and were borne by A Ltd.

Draft journal entries to close the books of B Ltd. and prepare
" Realisation Account and Equity Shareholders Account. Also

‘3 8ive opening entries in the books of A Ltd. (15)
OR
3. Following is the Balance Sheet of X Ltd. as on 315t March,

22016,

P.T.O.
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quity and Liabilitjes R
S. | Assets

3
,000, 79%, Cumulative 5.00.000

Goodwill
IIII."I'

Patents

Preference Shares of

Rs. 100 each

F; .
00,000 Equity Shares 10.00,000

Land ang buildings

of Rs. 10 each

7% Debentureg of 5,00.00
-U0,000

Plant ang Mmachinery

' QD.CT Ammﬁ:ﬂﬂa
:._f\mw:ﬂ_ms S
t ﬂmﬂ ﬂowﬂv

60,000

on land and building)

Interest payable o

Stock
4.30,000

debenture holders

Loan from dir
ectors 1.00 T
00,000 | Debtor
; s

(considereg good)

A.oo,:cloﬁ

¥

————

ﬁﬁma?o_.m
4,00,000 Debtors

(considered doubtful)

‘ mem.._.w / 1
] L]
V 2 S N...QD

Preliminary eXpenses ‘ 80 oci

Prof;
\ rofit and ]ogg account| 4.9 e@

27,67,500

|
|

m
A
_

19

Contingent Liabilities:
{. Claims for damages pending in the court totalling Rs.

50,000

2. Arrears of preference dividend Rs. 14,000

The following scheme of reconstruction has been agreed
upon and duly approved by the Court:

ere to be reduced to an equal

(a) The Preference Shares w
of fully paid Preference Shares of Rs. 80 each

number
er of fully paid

and Equity Shares to an equal numb

Equity Shares of Rs. 2.50 each.

(b) All intangible assets to be written off.

3 (c) mSOW to be revalued at Rs. 3 .80.000 and Debtors
considered doubtful to be written off.
s agreed to waive half of the

(d) Preference shareholder
arrears of dividends and to receive Equity Shares in lieu

of the balance.

(e) Debenture holders agreed to take over part of the security

of the book value of Rs. 1,80,000 for Rs. 2,50,000 1n

E ) . ; : ; .
satisfaction of part of their claim and were issued fresh

7% debentures (with floating charge on all assets) in
lieu of interest payable to them and payment of

additional cash of Rs. 1.,50,000.

P.1T.0:
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i 6,00,000
(f) The contingent liability for claims for damages vm:a:ﬁ_\ 4
in the court of law materialised to the full] eXteny . .
Eoéwéﬁ the company could recover Rs. 40,000 frop, et 2 00,000
those who were responsible for sych damages and sett]eg o qur T .
the rest by 1ssuing Equity Shares. : - 1,00,000
(&) The directors agreed to convert the loan into maf_cr_ HHL
Shares, - Ziepll0
A LdED
Journalise the transactions angd PTeparc Capita/ X 50,000
Reorganisation Accoypt (15) fafaer werial
>§ww§%§a&2imeoﬂmﬂﬁm JFT qur qF F AW oo
ﬂwﬂﬁﬁ@%mﬁmﬁmﬂﬂw%ﬂwﬂﬁﬁ . 10,000
TER oy Rl @
5,000
SELC I — | « | R 7
6,00,000
SR, e st sifres qotr

10,000, 12% SRMF Fw 10 % g Ulew
20,000, ¥EE w10 ¥ g e

—
[ ﬁ
gfawa Tehl 9
1,00,000 \\ A fofits am wige @ =

i F stfemr YowanRar &1 10,000 € & 14% e
2,00,000 (1) Bfofes
kil MR FEles vy o= 9
= — > (i) Sfad SmrerRar #Y 10% 9w w0 © m@@ﬂ%ﬂﬁ
== so000 O S TI T
11% fa=w

_
1,00,000 %

: 0 12% feam=
fafay et (iii) Bffs = 11% fA=r uRdl = 10% 7@ =

S wRE 8% WfREW B s em

1,50,000
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5000, 7% w94

e s
100 & a5y

1,00,000 Faad
W 10 %

100 & am 79,

23

Nmnu
=R (S 3 fram (7rm ) 60,000
o W YA )
]@Hﬁm&. Eafier) 17,500 | =& 4,30,000
=
1@% F O 1,00,000 | 2erfat 4,00,000
(3=t W= )
Aerial 4,00,000 | et 30,000
(wfevy s )
dF R I 2,560,000 | I 2,500
i @ 80,000
N R EE S 4,90,000
27,67,500 27,67,500
fres e

L& ¥ fefaw afidl & &l = w9 7= 50,000 %

2. oI @ & 14000 T FEET 2

T # fefafas aom woween B T 2 ik e
BN AN WER Y ot TE B

B,
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(%) sifesmT St = e worr e 3 momﬂwﬂ?ﬂ&m_

24

ﬁgwﬁﬂﬂa%%@m@g&mﬂﬂﬁﬂg
¥ 250 ® A gof mﬂ,mﬁm%%&wﬁ%ﬁa_

ﬁﬁm@#ﬂqﬁd@&ﬂﬁwﬁi@%%_

wIF F 3,80,000 aw%@ﬂ@ﬂﬂﬂ%ﬁﬂ@
ﬂ%&ﬁﬂﬁﬁwﬁwwﬂ_a@

%ﬂ@ﬁmﬁ&wﬂﬁw%mﬁﬂa@ﬂ%@:@w

ﬁﬂ%%w%%%ﬁﬂw%ﬁ%wﬂ%ﬂ
TR B P

mg&iiﬂwﬁ”ﬂ%%ﬂw&obg 13
%ﬁﬂ%a@ﬁ@ﬂm,gboom&%%g%ﬂ_‘
%%ﬁqx@ﬂiwﬁﬂﬂ%ﬁﬂwﬂ&%
ey Aﬁwq@ﬂgﬂ@ﬁq&aﬁ%%v%
150,000 % sfofes w=re ofr & 8,

ﬂﬂmﬂwm@&%@aﬂm%m@%@am&%ﬂwﬂﬂ.
ﬁ@%@i@%ﬁsﬁmﬂﬂ_%ﬂiaﬂ%

.@Sb%«.mﬂmﬂi%wﬂ%%@a@%ﬂw
%%ﬁgwmm%@ﬁﬂ&ﬁmﬁﬁ_

1863 w2
() ﬂwﬁﬂﬂ%%&iﬂ%%@aﬁﬂm%ﬁ_
= aeA F e ¥ ufafie g S ol qredaEd ol
TR FHIegl
4. The following are the Balance Sheets of H Ltd. and S Ltd.
as on 31st March, 2016:
[ H Ltd. (Rs.) | S Ltd. (Rs.)
EQUITY AND LIABILITIES:
Equity share capital 8.00.000 2.,00,000
(fully paid shares of Rs. 10 each)
General reserve (as on 1-4-2013) 2.00,000 2.00.000
Surplus 40,000 4.00,000

+ | Trade Creditors 1,60,000 80,000
Total 12,00,000 8.80,000
ASSETS Rs. Rs.
Fixed Assets: Tangible 4,00,000 2,00,000
Investments in Equity shares 4,00,000
of S Ltd.

# | Stock in trade 2.,00,000 1.80,000
Trade Receivables 1,20,000 4.00.000
Cash at Bank 80,000 1.00,000
Total 12,00,000 8.80.000

P.T.O.
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Additional Information:

(1)

H i _
Ltd. had purchased shares in the subsidiary company

on January 1, 201, 1

(i) Balance of surplus of S Ltd. on 1-4

2015 wa
Rs. 1,60,000. 1

(iii) S Ltd. distributed bonus shares out of general resery

in the ratio of one share for €very two shar

es h in
February, i

2016, but the entry for bonus issue has not.

been passed by it yet.

(iv) There was an abnormal loss of goods by

fire amounting |
to Rs. 30,000 on 15t j

|
i

[
a
{

aq

October, 2015.

b .
(¥) H Ltd. held 18,000 equity shares (including bonug
shares) in S Ltd. ag at 315t

3
J.“,,

March; 2016.

Prepare consolidated Balance Sheet of g Ltd. and its |
! its

subsidiary S Ltd. as at 3 |
; Ist March, 2016. § :
workings, - Show your ”_,_

OR

H .
Ltd. acquired 32,000 equity shareg of Rs. 10 each in
Ltd. on 01-10-2015 for Rs, 6,00,000. The Balance Sheets

the two companies as at 31-03-2016 were as follow
s:

S
of

1863

o

27
EQUITY AND LIABILITIES |H Ltd. (Rs) S. Ltd. (Rs.)
Shuges Copitali” 10,00,000 4,00,000
Equity shares of Rs. 10 each
fully paid up
General reserve (01-04-2015) 4,80,000 2,00,000
Profit and Loss Account 1,20,000 1,80,000
Unclaimed Dividend - 2,000
- 00
Bills Payable 30,0
Sundry Creditors 4,00,000 88,000
20,00,000 9,00,000
ASSETS H. Ltd. (Rs.) | S Ltd. (Rs.)
Land and Building 4.,00,000 4,40,000
Plant and Machinery 6,00,000 3.,00,000
F<mmﬁamﬁ_.m (including Investmen 8,00,000 -
in Equity shares of S Ltd.)
Stock 50,000 30,000
Debtors 40,000 50,000
0
Bills Receivable 10,000 20,00
Bank Balance 1,00,000 40,000
- 0
Preliminary Expenses 20,00
20,00,000 9,00,000

o L0
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Note: Contingent liability for Bills discounted Rs. 20,000

Additional Information:

(i) On 01-04-2015 the Profit and loss Account of S Ltd,

showed a credit balance of Rs. 70,000 out of which a

dividend of 10% was paid on 01-11-2015, The &S.mmn_c,

Wwas credited by H Ltd. to its Profit and loss Account: )

Ignore corporate dividend tax.

(ii) Creditors of S Ltd. include an amount of Rs. 30,000

for purchase from H Ltd. The goods are still unsold on

31-03-2016. H Ltd. sells the goods at cost plus 20%.

(iii) Bills Payable of S Ltd. are all issued in favour of H.Ta

Ltd. Of these bills, H Ltd. got discounted bills worth
Rs. 20,000.

Prepare Consolidated Balance Sheet of H Ltd. and its
subsidiary S Ltd. as at 31-03-2016. Show your workings..

(15)

Ay

29
H ffies(s) | S fafes(T)
[ Sad IR JmEd | :
IR o 8,00,000 2,00,00
FEC [l T
(10 & T T T IN)
000
2 00,000 2,00,
5 @) ;
e Red (14.201
40,000 4,00,000
CIBEIL)
MR et 000
it 1,60,000 80,
;A
12,00,000 8,80,000
S
it £ .
gftdaf<wmt
0
00,000 2,00,00
. G| 4,00,
R gReafear @ T
i 000 I
e Ao ¥ e 4,00,
S F1 Sferaet
T 2 00,000 - 1,80,000
U Wi
q wfEr 1,20,000 4,00,000
UR ¥ I
A+ 80,000 1,00,000
¥ A
4_ 12,00,000 8,80,000
S

PT.O,
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ii) S |
(ii) S ffRs = sfEY 3w 14.2015 ¥ 1,60,000 & =M

(iii) m%#%ﬁ%#@i@ﬂ%ﬂﬂa%@
2016 ¥ 4R T A IR W1 W D g o e T

SRR &fT 30,000 ® &% &

Em@wmw%aam%wwﬂa&waooo%mﬂ%@ﬂ?
g&?ﬂﬂi 31 9= 2016 =t 9

e

H ffds ¥ 6,00,000 = % 1-10-2015 5t s R Fasl _
# 10 T 99 32,000 $RER s@mﬁ@a % 31-3- 201000
WA S B g Pt 3

31
H ffies (=) |s fds (v)
ot 3R TaN
MR YA ;10 T A P A 10,00,000 4,00,000
R A
wm=a s (01.04.2015) 4,80,000 2,00,000
W R T o 1,20,000 1,80,000
r | | e omiw 2,000
_ 3 & 30,000
fafae aeeRat 4,00,000 88,000
S 20,00,000 9,00,000
aftgafert H fifies (v) |s ffes (=)
"t IR wa 4,00,000 4,40,000
qOA 9 AEAS 6,00,000 3,00,000
faw (s fofies & A 8,00,000
J A FEw @ o)
wieh 50,000 30,000
et 40,000 50,000
o foe 10,000 20,000
¥ AW 1,00,000 40,000
IR ' 20,000
S 20,00,000 9,00,000

P.1T.0.
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ﬂawﬂﬁﬁ_ﬂi%ﬁﬁﬂﬁﬂﬂ%&@a_

:cm@_wwwmw@ﬂm&w:@mwmwﬁwm%@amoo
,000

W Whe 2 31-03-2016 aF =& fae qMT 3
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Balance Sheets as at 31 March,..
EQUITY AND LIABILITIES 2016 2015
Rs. Rs.
Equity Share Capital 80,000 55,000
10% preferenc Share Capital 20,000 25,000
General Reserve 7,600 4,000
Profit and Loss Account 2.400 2,000
15% Debentures 14,000 12,000
Creditors 22,000 24,000
Proposed divident 8,000 10,000
Provision for taxation 8,400 6,000
1,62,400 1,38,000
ASSETS 2016 2015
Fixed Assets 80,000 . 82,000
Less : Accumulated Depreciation 30,000 22,000
50,000 60,000
Stock 70,000 60,000
Debtors 34,400 15,000
Cash 7,000 2,400
Prepaid expenses 1,000 600
1,62,400 | 1,38,000

P.T.0.
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Net profit before tax provision

1863
34

Additional Information:

2

(2) Fixed assets costing Rs

depreciation till date of sale on the
sold for Rs. 10,000 o

4
(4) New debentures were issued on 35t
Show your workings clearly.
OR
(a) Differentiate between Balance Sh
e

non banking company.

presents the following information
ended 31st March, 2016:

Figures in

Dividend paid

20,000 (accumula

March, 2016,

On of a Tm.d._ﬂmm.—m NHH.“

5

Rs. Lakhs

36,000

10,202

g

3 35

Income tax paid

Book value of mwmoﬁm sold

Loss on sale of asset

Depreciation debited in Profit and Loss Account

Capital grant received-amortised in

Profit and loss Account
Book value of investment sold
Profit on sale of investments

Interest income from investment credited

in Profit and loss Account

Interest expense debited in Profit and-

Loss Account
Interest actually paid

Increase in working capital

(excluding cash and bank balance)
Purchase of fixed assets

Expenditure on construction work

5,100
222

48
24,000

10

33,318
120

3,000

12,000

13,042

67,290

22,092

41,688

P.1.GQ.
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Grant received for capital projects
Long term borrowings from bank

Provision for income tax debited in

Profit and Loss Account

Cash and bank balance on 1-4-201

Cash and bank balance on 31-3-2016

6,000

8.000

You are required to prepare a Cash Flow Statement as per

AS-3 (Revised).

(5+10=15)

ﬁ?ﬁgwﬁmgﬂgﬂ%}maﬁgﬁ,

F TR UFT TR FO AR

31 W .Aq® @ qe U=

Fet T dgard 2016 2015

3 T
SRt S IS 80,000 55,000
10% e S it 20,000 25,000
e R 7,600 4,000

1862 37
i A 3R B S 2,400 2,000
15% fRem=r 14,000 12,000
AaTRaf 22,000 24,000
TTAd AT 8,000 10,000
U & o e 8,400 6,000
1,62,400 1,38,000
gfegfat 2016 ®. 2015 %
80,000 82,000
e ;AR e 30,000 22,000
50,000 60,000
LZdED 70,000 60,000
EC e 34,400 15,000
AFs 7,000 2,400
J_ THed @ 1,000 600
1,62,400 1,3 8,000

Pl



1 1863 39

1863 38
FfoRea w==m: s &R fear 5,100
L ¥ 9§ & for o A e ?Y 9,400 ® @ W o AR T E 222
_ 1
2. 20,000 & T Tl Rl H (I W W R 7w A W Reu # S W 48
6000 T & VU™ 10,000 & ¥ [ f@r em , B o W A SR e B B S0
m.ﬁﬂobcommﬂmﬁﬁﬁwﬂﬂ_ﬁﬂﬂuﬁ@a, o T T e s R A "
I W R s g o ¥ R T wd wiw TS
T W A A8 Al ' TRamer i
4. 31 W 2016 F AW RA=R W@ fEw W) I R e | 33,318
. R = 9= w v 120
AT FEaEA W= welid Hikw 1
fam ° Faw oW ¥ W A IR e ad § 3,000
b |
5. (%) T dR A IMea wwN D gET ™ ¥ SR samwEw d
_ oS @E B N IR B ol H 12,000
(@) J feifids a1 w2016 @ @ g A @ fg kR i ot A LSAT
TN I 1
wm 5 o 9eg ¥ fear 13,042
siw wE T A
¢ FEde ot # i 67,290
F W T ¥ TR Faw W 36,000 SO W
fRar wmr wrsra 10,202
P.T.O.
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il gRevfal i @de

el w1 W =

Hore wRAeS @ R ww we
wﬂ@%&ﬂﬂ%@ag_

Ia X & fog o v wEEr =
SR EE aeE § e ww far w2

ez ik dF ¥ AW 1-4-2015 H

Az 3R A ¥ IV 31-03-2016 H

HUH AS-3 (THRIRE) & HTER Ashe TAE HUT FIR T

B
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Attempt ALL questions.

All questions carry equal marks.
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2

. (a) ‘The fundamental attribute of corporate personality is

that company is a legal entity distinct from its members’’
Explain the statement citing relevant case laws. (5)

(b) Discuss the statutor rovisions regarding ‘reduction of
¥p g g

share capital’.

(5)

(c) With a view to issue shares to the general public, a

shelf prospectus containing some false information was
issued by the company. Mr. X a high net worth investor
received a copy of the prospectus but did not apply fof
any shares. The allotment of shares was completed by
the company, A few months later Mr. X bought 1000
shares of this company from the open market at a higher
price. Subsequently, the price of the shares fell and
Mr. X sold these shares at a heavy loss. Mr. X filed a
case against the company claiming damages for the loss

suffered on the ground that the prospectus issued by :ﬁv
company contained a false statement.
provisions of the Companies Act,
Mr. X's claim is justified.

Referring to the
examine whether

(5)
OR

(a) What do you mean by lifting of the corporate veil ?

Explain the circumstances when the corporate veil of a
Company may be lifted under the order of the court. Gv_

(b) Describe the essential steps to be taken for the

incorporation of a company,

(5)

1
g
___

1864

. the
(c) The Articles of a company stated that Mr. A will be

d

financial advisor of the company. The oouﬁumsw BWH.G
general meeting passed a resolution to appoint Mr. B in
place of Mr. A as the financial advisor of the company
by altering the Articles of Association of the ooﬂ_ﬁmww.
Explain with reasons whether the company can do so.

(5)

(%) ‘wF B =hEE W oEE wew 7 2R I e

At Tt # < S el ¥ g A W B A
R YA T @ T T A S A

(@) I AN Y e F ey ¥ WA wEenst # e A

(1) T S # R A W W e @ S A w

ﬂ@ﬂmﬂﬁwg@@mﬂ&ﬁﬂdmﬂﬂ&ﬂwﬂ_@w
mi‘%ﬂﬂﬂﬂmﬂmﬂﬂﬂwﬁﬂ&ﬂmﬁ%%
firer T 2 g IAT R T B for s AE feRan w
TN A B T w FE W R R T FE W T
freer X 3@ SO0 B 1000 IR A FE W G TR H
@ B Tw ¥ AR A e fr T R e XA
= SoER I A @ A R few XX & e
= B 3 3@ WUR W E # g oafy A ofld W
i %@%mﬂﬂ&@aﬁ%ﬂﬂgﬁuw&
T ¥ e fafEw ¥ @ s @ we o gv W

@ % Ry ww T R X @ @ =R 3w
P.T.0.
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Jerar

.
ﬂq&%ﬁﬂ%@%ﬂﬁ%ﬁ%ﬁ%@g
o S e o T o s e @ e e

(%)

Aﬂvﬂﬂw%w_ﬂm%@ag%ﬂ@%ﬂﬂ&ﬂ%
e

Aﬂyi%%&iﬁw@*ﬂﬂb%ﬁg*
mﬂwﬂz%ﬂﬂ_ﬂ@w9ﬂ>$ﬂwgwﬂﬂmﬂﬁw
R A 5w ¥ vw v T e o e B
%w%ﬁ%%%ﬂ@%ﬂdﬂgﬂmﬂ_
%wﬂﬂzﬂ%@awﬁ%ﬁwﬁﬂiwm

2. (a) Define a private company and state the provisions under y:
the Companies Act, 2013 for the conversion of a private
company into a public company. (35)

(b) Define a Government Company. State special provisions

om::w OonmEmmboﬁ relating to Government
Companies.

(5)
(c) Write a note on ‘Shelf Prospectus®.

(5.,
OR

5
1864

i bjects for
) Define Producer Company and explain the obj o
¢ which Producer Company is formed.

u
con .

(%)
examples for each.

T @ WS
ﬁﬁ%%%%@a%ﬂ%«ﬁ& e
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3

(a) A company has its registered office at Mumbai in the

state of Maharashtra. For better administrative*

convenience, the company wants to shift its office at
Pune in the state of Maharashtra. What formalities the
company has to comply with for shifting its registered
office? (5]

(b) Differentiate between the right shares and bonus shares.

(5)

(c) Can a retiring director be reappointed ? Explain the-

provisions of the Companies Act in this regard.  (5)
OR

(a) What do you mean by ‘buy back of securities’ ? Explain
the provisions of the Company's Act, 2013 regarding
'buy back of securities'. (5)

(b) What do you mean by transmission of shares and
distinguish between the transfer and transmission of
shares. (5)

(c) Write a note on Corporate moﬂ.m_ Responsibility
Committee. (5)

Aﬂvﬁﬂ.ﬂﬁa%&mﬂaﬂﬁﬁaﬂdﬁw%mw@%
ﬁ%ﬂ%ﬁ%m@@%gﬂ%&%dﬂ
%@aﬂw%ﬁi@iﬂ%%
%%%ﬁa%%ﬂ%ﬁi@ﬂ%
27

fl

1864 ¥

4.

(@) T5e I IR qAWE JA F SR W=l
() T ¥ A A FRvw A R @ w27

W WY W T Rt A sEensl @ wwen #ikm

eqdar

(=) ‘ofeeiferdl & @ @@’ A a9 W wER 27 gRvRar @

qOE wle ¥ GERE weR T 2013 & wEes &
R o

(@) T8 & ST ¥ T F FHe B7 MR I B BT

R FWor # IR wee
(1) S A e IuEde affy w et Rk

(a) State the provisions of the Companies Act, 2013 with
respect to qualification and disqualification of Directors.

(5)

(b) State the legal provisions regarding calling and holding
of an Annual General Meeting. What are .Em
consequences of default in holding of such a meeting.

(5)

(c) Write a note on Audit Committee. (5)
OR

(a) Distinguish between a whole time director and a

(5)

8 WL 7

managing director.



%

1864 8

(b) What do you mean by insider trading? State the legal

provisions regarding insider tradin
g under the C
Act, 2013, oEﬁmnM%
)

(c) Write a note on postal ballot.

(5)
(%) Fewsl ot deaasl o vl & aR ¥ TR s
2018 & TS w1 I Ffr

(@) i murr dom A o ok wARE W D A

gﬂﬂm«ﬁ%ﬁd@m%@ﬂgwﬁ%%wﬂ
* qRomr = By &7

(1) o wen @Ry w o e

STeIar

Am&ﬁﬂ@ﬂwﬁﬁ%a@wﬁﬁw%mﬁﬂ

[

(@) SARE AR F 9w T wwR q 201 @
FHerte SaRd =R ¥ detEm e s W o
HITg|

(1) = TR AR w Rt fafe

(a) What is meant by inability to pay debts? Can a ooEva\\
be wound up on this ground? (5)

%

1864 9

(b) What is the process of dematerialization of physical
shares under the Depository System? Can these be

()

rematerialized?

(¢c) Define the term books of account and discuss the
provisions for the maintenance of books of account under
the Companies Act, 2013. (5)

OR

(a) There are only two members of a company. They are
also the directors of the company. Both of them are not
on speaking terms. Can the company be wound up on

(5)

this ground? Give reasons.

(b) Examine the salient features of the Depository Act, 1996.
()

(c) Write a note on 'Investor Education and Protection Fund'.

(5)

(%) O B T gE T A A W e F7 AT A
YR W g fRar o w27

(@) Risied wmd @ seda ifrE T F SRR H
afkr = 27 w3 fw ¥ AARvarEg B W g 27

) AE-TEE @ o AR ok w s 208 @
s S e oS ¥ gaw geemst W fadsen

i P.T.O.
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Unique Paper Code : 32351201

Name of the Course : B.Sc.(Homns.)
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Name of the Paper  : Real Analysis
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1*me : 3 Hours Maximum Marks : 75

Emﬁﬂoﬁoﬂw for Candidates :

(a) Write your Roll No. on the top immediately

on receipt of this question paper.
(c) All questions are compulsory.

(b) Attempt any two parts from each question.

1. (a) Define Infimum and Supremum of a non-

empty subset of R.

Find infimum and supremum of the set

_.|$u
g = fd— - nelN
| n

=
e
ot
i

wn
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1924 .
: imi ints
(b) Prove that anumber u is the supremum of (c) Define limit point of a set. Find limit poir
C ‘ ;
a non-empty subset S or R if and only if : . =
OM ~ Ou 1 —.

. m
(i) S<u VseS. _

< s | v f a sequence (x)
: . . w Am& Define the convergence o _ q .
(11) >0, there €xists s_. €S such 2 e )
et o of real numbers. Show ha X a
at u—-e<S .

m | nv nt segue s such
. d & convergent sequence of real numbers suc

that x_ > O <:m2uﬁﬁm5xu:5xawo

(c) State Archimedean Property of Real

1
numbers. Prove that if S uﬁm e 2¥ s then

_ L. limit of a
inf S=0 . 5 i (b) Using the definition of the li

sequence, find the following limits :
2. (a) LetA and B be bounded non-empty subsets

of R. Define - a . ﬁmmHL

(i) hm,.. 2n+5/
>+wuﬁm+wumm>mbavmww .
Prove that inf (A+B) = inf A+inf B. 5 fidh I/\IMIQ

(i) e iy )

(b) State Density Theorem. Show that if x and
1 1/ ..

y are real numbers with x < Y, then there (¢) Prove that lim,, . n"'" =1.

L ]
- - - o 4
€X1sts an irrational number z such that
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4. (a} Let (x ) be a sequence of real numbers that
converges to x and suppose that

X,20VneN. Show that the sequence
VX, converges to \/x . . B

(b) Prove that every monotonically increasing
bounded above sequence is convergent.
S

(c) If %, < X, are arbitrary real numbers and

1
X, = mﬁxi + X,.,) for n>2, show that (x |

1s converg~nt. What is its limit ?
S

5. (a) Define a Cauchy Sequence. Is the
sequence (x ) a Cauchy Sequence, where

1 |

K = L o1 T + ol ? Justify your answer.

ﬂH

2

(b) State and prove Bolzano Weierstrass
Theorem for sequences. Justify the

1
theorem with an exampble. =

4

a

. _ 1823

Y
(cj (i) Show that if (x_) is unbounded, then
there exists a subsequence (x,) such

1
. lim|—|=0 5
that : X .
(ii) Show  that  the sequence
1 ! 3 - # 1s divergent
TE 3 T g ramraas 1 S
'27 74 JEe
.
)

6. (a) If MsLN: converges, then prove that

lim_,_ x,=0. Does the converse hold ?

4 | S

(b) Test the convergence of any twe of the
following series : S

n+1
i 2z

(i) Mi - u

Jn Jn+1

20 8 B 1

ol
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e 2
) B

() State the Alternating Series Test. Show

: o

that the alternating series MUA v is
= n

convergent. S

7. (a3 Let O<a, <b_Vn. Show that :
: S
()i - 1 M.,_“an converges, then so does

a_.

n=l N

(ii) If > a_ diverges, then so does

n=1

M“u_ U: :

(b) Show that every absolutely convergent

series is convergent but the converse is

not true. S

1

e

1823

f . = YL Oﬂ
_m_ﬁ. State Integral Test. Find the condition
~  convergence O

f the harmonic SE€ries

5

A 3000
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' Your Roll No. S e i IBRL i
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Unique Paper Code :32351202

Name of the Course : B.Sc.(Hons.) , |
Mathematics-I.

Name of the Paper. : Differential Equations
Semester 2 1

Time : 3 Hours ' Maximum Marks : 75

Instructions for Candidates : -

(a) Write your Roll No. on the top 1mmed1ately
on receipt of this question paper.

(b) Use of non-programmable scientific
calculator is allowed.

SECTION - A
1. Attempt any three parts, each part is of 5
marks. '

(a) Solve the initial value problem :

x W iy o ge, y(1)=a.
dx : N =

(b) Determine the most general function
M (x, y) such that the equation

M (%, ¥) dx + (%2 ¥° + x%) dy =0, is exact and
hence solve it.

PT.0.
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(c) Solve the differential equation :

(x*- 3y?) dx +2xydy = 0.

(d) Check the exactness of the differential

equation : ‘
(3y +4xy?) dx + (2x +.mun.ui dy =0.

Hence solve it by finding w_ro integrating
factor of the form XPyA,

2. Attempt any two parts; each part is-of 5 marks.

(@) A certain moon rock was found to contain

(b)

equal numbers of potassium and argon
atoms. Aszume that all the argon is the

result of radioactive decay of potassium (its

half-life is about 1.28 x 10° years) that one
of every nine potassium atom

disintegrations yields an argon-atom. What

is the age of the rock, measured from the
time it contained only potassium ?

A hemispherical bowl has top radius 4 ft
and at time t = 0 is full of water. At that
moment a circular hole with diameter 1
inch is opened in the bottom of the tank.
How long will it take for all the water to
drain from the tank ?

-

1824

(c) A motor boat starts from rest (initial

velocity v (0) = v, =0). Its motor provides a
constant acceleration of 4 ft/s?, wsm émﬁmm
resistance causes a deceleration o

L8 ft /s?. Find v when t =10 s, and also
400 .

find the limiting velocity as t = + @ Mﬁw‘w
is, the maximum possible speed o

boat}.

SECTION - B

i .5
3. Attempt any two parts; each part is of 7
marks.

(a) Consider the American system of two

lakes: Lake Erie feeding into Lake On.ﬁmﬁm.
Assuming that volume in each ._mewro
remain constant and that Lake Erie 1s : e
owq source of pollution for Lake Ontario.

(i) Write down a differential mﬂ.cmﬁoﬁw
describing the ooboosﬁ.mﬁon.o
pollution in each of two lakes, EmEm
the variables V for volume, .Hu for Dogm
c(t) for ‘concentration mﬁ. time ﬁwmw
subscripts 1 for Lake Erie and or

Lake Ontario.
3 P. TG,
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(11) msﬁﬁo.mm that only unpolluted wat
nnéw into Lake Erie. How does Mbﬂ,
change the model proposed ? N

(iii) Solve the system of equations to

mmwwmmmwob. for the Huoﬁwﬂmmﬁ

concentration c,(t) and c,(t). o

. ;
(b) The following model describes the levels

of a drug in g patient takin

cold pills : g a course of

dx
at =]— wau x(0j-=0

dy
at “kKx-ky, y0)=0

2

Where k, and k (k,>0,k
describes rate at which

3 V 3 4
FE 0 MBQ k, # k)
fose € drug moves
g MMS the two sequential compartments
-tract and the bj
: oodstream!

e eam} and I
o notes the amount of drug released into

e Gl-tract in each step. Af time t. x >b(a
Y are the levels of the drug in the %ﬁ -
and bloodstream respective o

tract
ly.

!

1824

(i) Find solution expressions forx and y
which satisfies this pair of differential
equations.

(ii) Find the levels of the drug in the GI-
tract and the bloodstream as t — .

(c) Inview of the potentially disastrous effects
of overfishing causing a population to
become extinct, some governments impose
quotas which vary depending on estimates
of the population at the current time. One
harvesting model that takes this into

account is

m&nﬂthlmut?aN.

dt K .

(i) Find the non-zero equilibrium
population.

(i) At what critical harvesting rate can
extinction occur ?

SECTION - C

4. Attempt any four parts; each partis of 5 marks.

(a) Use the method of variation of parameters
to find a particular solution of the
differential equation

y'-4y'+ 4y = 2€* -
5] P.T.O.



M HAW. ..mm m.ﬂﬂ.m.nwhu.@& HO

the en i

ety d of n.hm_mbﬁ_nm that is stretcheq 2

| rs) by a force of 100 N (Newto i

Is set i i ith i o,
In motion with initia] Position X, = v:Mﬁ

= -Sm/s. Find the

ampli _ e
plitude, frequency ang period of th

OMOH...._HDHHOHH =

(d) Show that the two solutions

and y,(x) = ex Yi(%) = e* cos x

S, o MEM of the differential
. —2Y+2y=0 are [j
o e linear]
m. Mvmnanzﬂ on the open interval [ ,2”. ’
in el
- a mmwﬂoﬁmw solution of the mwo<n
€rential equation with Initial conditi )
on

UAOVHHQ:SQ %_AOva.

i o :
(e) Find .zuo general solution of
€quation x?y” + 7Xy' + 25y =0
b . :

the Euler

T s

.

1824

SECTION - D

.,Vﬁmaﬁm any two parts; each part is of 7.5

marks.

 (a) Consider a disease where all those who

T

w

are infected remain. contagious for life.

Assume. that there are no births and

deaths : _ . o

(i) Write down suitable word equations for
the rate of change of numbers of
susceptibles and infectives. Hence
develop a pair of differential equations.

(ii) Draw a sketch of typical phase-plane

trajectories for this model. Determine

" the direction of travel along the
trajectories. :

A simple model for a battle between two

army red and blue, where both the army

used aimed fire, is given by the coupled

differential equations -

(b)

Where R and B are the number of soldiers
in the red and blue army respectively and
a, and a, are the positive constants.

i

P.T.O.

¥

e



(i) Use the chain rule to find g
relationship between R and B, given
the initia] numbers of soldiers for the
two armies are T, and b respectively.

(11) Draw a rough sketch of phase-plane
trajectories.

(iii) If both the army have equal attrition
- coefficients i.e, &, = a, and there are
10,000 soldiers in the red army and
8000 in blye army. Determine who

wins if there is one battle between the
two army.

s

(c) Oommanw the Lotka - Volterra mode]

describing the simple predator Prey model :

dx . , dy

e bX-ceXY ang F XY =2, Y

where b, ¢, ¢,, a, are positive constants

and X and Y denotes the prey and predator

populations respectively at time ¢,

(i) Find the equilibrium solutions of the
above model.

(ii) Find the directions of trajectories in
the phase plane.

. 3000
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throughout the paper.
feoquit— 59 FvI9T @ IO HAF A fE= FH @&
.i.nﬁaumeWG SfesT qsit IR @7 AT & &
- & =Eg

mnmiﬁ._, any four questions.
- All questions carry equal marks.

g ae g9 & 3w ST
gt v & oFF A8 |

i ith time.
1. The concept of citizenship has evolved wi

Explain.

P. T. 0.
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T F fesld W ¥ @y fawfad gam 2
STEAT i |

2. Discuss the classical concept of citizenship.

TAIREHAT MR STaaRT &t faa=aT i |

3. Examine T.H. Marshall’s views on citizenship.

Awa. Al & AT & fagia &1 s SR |

4. What is multiculturalism? Discuss it with reference to
Will Kymlica’s views on multicultural society.

SgHTRAAE @ Y T GHeW €2 faa feufom ¥
AEHERqAET GATS FT SEENHA HHT |

5. What is .m_ogznmmonu Critically examine its effects on
State Sovereignty.

vt T R ? T F G W I N &
STATSATHS T T |

6. Some developed nations are making its immigration
laws more stringent. Will this affect the pace of
globalization in the world?

FO fawfaa o0 sEsla FE W ok afus w3k
1 W@ € | AT W gHE W9 F 9= s

7. The concept of citizenship is shrinking in a globalized
world. Discuss.

b

-

g

6842
3

A % o § ArfEd W fagra i g S
@ § | faa= &t |

Write short notes on any two of the following:

(a) Social Exclusion
(b) Global Justice
(c) Human Rights

(d) Aristotle’s concept of citizenship.

Frefafea & @ fedt & W dfya feomt fafe:
(a) WA SAEHT

(b) afva® =

(c) WHE AMTHFR

(d) ST F T F EE |

500
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Your Roll No. SR N

- Sl. No. of Q. Paper : 1832 GC-4
Unique Paper Code : 32371202
Name of the Course : B.Sc.(Hons.) Statistics
Name of the Paper : Algebra
Semester gy ||

Time : 3 Hours Maximum Marks : 75
Instructions for Candidates :

(a) Write your Roll No. on the top immediately

on receipt of this question paper.
(b) Attempt six questions in all.
(c) Selecting three from each Section.

SECTION - A

1. (a) Form a cubic equation whose roots are the

values of a, B, v given by the relations

> a=d, Zcf =5, Za3 =11. Hence find

the value of Z a4 : 6

P.T.0.
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(b) If @, B, vy are the roots of the cubic
equation x* + px2 + qx + r = 0, then form

the equation whose roots are :

a B y
B+y-a’ y+a-B’ a+p-y’

B | =

2. (a) Solve the equation :
3x*-8x3+ 21x2-20x + 5 =0,

given that the sum of two of its Hoo.f.m is
equal to tl:e sum of the other two.

5o
2
(b) Do the following vectors

a =h8, T a, E 0, 6], a,=[1, 0, 0] form
mdmmmm for muuu 3

(c) Given the _ummpm vectors [1, O, 0], [1,1,1],
[0, 1,0] for E”. Which vector can be removed
from the basis and can be replaced by
[4,3,3], EEH@ still maintaining a basis ?

3

, : 1832
9

7 3. (a) Define a circulant determinant. Show that

T o &
ol D - T

d
c
b
a

&P T o

ﬁ , ‘has m. + b+ cA?+dA® as a factor where A

- is a root of x*=1. Hence show that the
determinant is equal to (a+b+c+d)

| é_ (a-b+c—d) {(a—c)2+ ?u&d 6

(b) Hxﬁwowm

= (eaxf (ray) (Lvas)
| (1+ bx)" (L+ by)” (1+ bz)’
1+ cx)” (1+ o%vu (1+ cz)’

as a product of two determinants and hence

. 6 1
evaluate it. 2

3 P.T.O.
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4. E Solve the following system of equations

(b)

(c)

5. (a)

with the help of Cramer’s rule :

6Ll
2
ax +by + cz = k,

aZx + b?%y + ¢c2z = k2,

a’x + b3y + ¢3z = k3,

When is a matrix said to be in : 4
(i) Echelon form,

(ii) Reduced echelon form ?

Find the area of the parallelogram whose

vertices are _ o

(-2, -2), (0,3), (4,-1), (6, 4).

SECTION - B

If B and C are square matrices of order n
and if A= B + C, then show that :

AP'= BP [B + (p #+ 1) C|, provided B and C
commute, C?=0 and p is a positive integer.

6

1839

(b) Define Orthogonal and Unitary matrices.

r {

» ﬂ.w..,.._

( %m (@)
N e
e - ¥

] 1

If A is a square matrix, A=z I'and A+3

are orthogonal (I is an identity matrix of
order same as A), then prove that Ais skew

3

symmetric and A’=—=1. Also deduce that

4
- = & H-
A is of even order. 6 .wu

Define elementary matrices. Show that
elementary matrices are non-singular.
Also obtain their inverses. '6-

Find the characteristic roots of the matrix

& -4 2
A=|2 -3 -1
2 -1 3

and show that the characteristic vectors
associated with its distinct characteristic
roots are mutually orthogonal.

G
2

S BT
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7. (a) State Cayley-Hamilton theorem. Given

(b)

2 -1 4 3 .2
A= 1 37| eXpress A-4A-A"+ 2A-51 as

alinear vohgwgmﬁ in A and hence evaluate
it. . : 6

the real quadratic
3x? -3y%~ 5z?- 2xy - 6yz — 62zx to its
canonical form and find its rank, signature
and index. .

Reduce

6=
2

- If G is a generalized inverse of X'X, then

prove that :

(i) G'is also a generalized inverse of X'X,

(i) XGX'X=X,

(iii)XGX ' is invariant of G,

(iv)XGX' is symmetric whether G is

symmetric or not. . 6

form

sl

1832

(b) Derive the formula to find the inverse .H.Dm
non-singular matrix M o.», order 5 S

partitioned as :

Q.J
M= ,w. mu

Where o, B, Y.and 3 are the block
matrices of order sxs, sxm, mxs ma.a H”.Mn“
respectively, and o 1s a bos-munm.

maftrix.

L.
63
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From the remaining questions do any five
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(d) Use of simple calculator is allwoed.
1. (a) For what value of k, Eil '
; ! -2x 5
f-(x) i T8 : ;—x 2 0_’
: . O f tlwal

i the probability dens1ty functmn of a
random Varlable X. P
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(b)

(f)

If X and Y are independent Cauchy variates
with parameters (A, 1) and (A1)
respectively then find the distribution of
(X +Y). 1

If the characteristic function ¢(t) of a

continuous random variable X is given, then

how will you find p.d.ff(x) ? ~ 1
State the relationship between M (t) and
TR 1
If two variables X and Y are independent
then what is E (Y/X)? 1
Let X be a random variable with probability
distribution :

X=x -2 2 "4

P(X=x)| 1/8 Y2 3/8

Find E(X) and Var (X) - 2

Let X and Y have the joint p.d.L.
fix,y)=c(x+y);0<x<1 0=<y<?2
then find c. 2

(h

1831

) If Cov (aX + bY, bX + aY) = ab Var (X +Y),

then comment on the independence of X
and Y. 2

The probability distribution of a random
variable X is :

PX=x)=(1/2);x=1, 2,

Then find mean and mode of X. 2
(i) If the p.d.f. of a random variable X is :
fix) =cexp [- (X’ —6x+9)/24] ;- © <X < oo,
then msamo, mean and variance of X.
2
Section-A
2. (a) Let X be arandom variable with p.m.{. given
by : . 6
X=X 012 |3 4 5 16 7
PX=x) |0 |k|2k|2k| 3k| k?*|2k?>| 7k*+k
(i) find k,

(ii) find P(X < 6).and P(0 < X < 5),

3 P.T.O.




1831

(b)

(b)

(iii) if P(X < a) > Y%, find the minimum
value of a,

ﬁinmgﬂawd@ﬁ?m&mﬁicﬂnon mcboﬁmn_ 3.
x. S

For the distribution :

%oh_lw_mldg&n , b—a<x<b+a
dF (x) = a

0 " otherwise

calculate y , mean and variance. 6

Let X be a random variable taking non-
negative integral values. If the moments
of X are given by : 6

BX)=06;r=1,2, 8......

then find m.g.f. of X. Also, show that
PX=0)=04,PX=1)=0.6,P(X > 2)=0.

An urn contains balls numbered 1, 2, 3.
First a ball is drawn from the urn and then
a fair coin is tossed as many times, as the
number shown on the ball drawn. Find the
expected number of tails. 6

1831

4. (a) Define the characteristics function of a

(b)

5. (a)

random variable. Show that the
characteristic function of sum of two
independent random variables is equal to
the product of their characteristic
functions. Is the converse true, if not

justify. 6

If the joint p.m.f. of X and Y is given by :
6

(x-y)’

pP(x,y)= e forx=1,2andy=1, 2, 3.

find :

(i) the marginal distribution of Y,

(ii) the joint distribution of U = X + Y and

V=X-Y,
(iii) the marginal distribution of U,
Section-B

Find the m.g.f. of standard binomial variate

(X-np)/\npq and obtain its limiting form

as n — . Also interpret the result. 6

5 251 2 8
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(b)

(b)

Let X be the D@mmﬂqm binomial variate with
p.-m.f.,

k+x-1
h iy wax P x=0,1,2,.
X
0 v
Show that the moment recurrence formula
is :

f(x)=
otherwise

dp.  rk
Ll_,l =52 k..
| ﬂﬁ&@ H.u Inﬂw

Hence find variance of X. 6

If X and Y are independent Poisson variates

such ﬁrmﬁ
V(X+Y)=4andP(X=3| X+Y=6)=5/16,
then find E(X) and V(Y). 6

, then find the p.d.f. of
e and identify it. Also find the

If X ~ N (u,0%)
Y =

coefficient of variation of Y. 6

7.

(a) If X ~ N(O,

(b)

(a)

1831

1) and Y ~ N (O, 1) are
independent random variables, then find
the mean deviation about mean of (X -Y).
6

Let X~ B, (m, n) and Y ~ Y(m + n) be
independent random variables, (m, n>0).
Find the p.d.f. of XY and identify the
distribution. - 6

Define hypergeometric distribution and find
‘its mean. Obtain binomial distribution as
a H_Bmﬁsm case om E\ﬁmwmoogoﬁﬂo

distribution. 6

B D) nins X, are independent random
variable having exponential distribution
each with parameter 3. Obtain the

distribution of Y = Nh 2l . T + X, and
hence find mean of Y. ‘ 6
7 : 400




